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Al 4ls
202502231600 1 [CS IS] [Computer Programming (2)] [2. 5 <le]

1) Which of the following is used for comments in C++?
S+C b ligleill axiiny b Lea
a. /* comment */
b. <!-- comment -->
¢. // comment

d. 'comment
1) - ab
2) + a,c
3) - ad
4) - b,c

2) Which of the following is a correct identifier in C++?

1) - int

2) - if

3) - while
4) + For

3) What will be the output of the following C++ code?where A=65
65=A o) Cus I ++C 258 il S 13la

#include <iostream>
using namespace std;
int main()

{

char ¢ = 66;

cout << ¢;

return 0O;

}

1) + B
2) -]
3) - A
4) - N
4) What will be the output of the following C++ code?
§ N ++C 258 U ¢ sS 13

#include <iostream>
using namespace std;

enum test

{
A=32,B,C
53

int main()

{
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cout << A << B << (;

return 0;

h
1) + 323334
2) - 323232
3) - 333333
4) - 343434

5) What will be the output of the following C++ code?
N H+C 28 il () sSams 3l

#include <iostream>
using namespace std;

int main()
{
int 1;
enum month
{
JAN =1, FEB, MAR, APR, MAY, JUN, JUL, AUG, SEP, OCT, NOV, DEC
¥
for (i= MAR; i <=NOV; i++)
cout << i;
return 0O;
}
1) - 01234567891011
2) - 123456789101112
3) + 34567891011
4) - 123456789
6) What is the correct definition of an array?
€24 sheaall puaaall Gy el 8 L
1) +  An array is a series of elements of the same type in contiguous memory locations
BSIAN (85 slaia &l ga (g il Gl e pualindl (e Aludis (e 3 lie 4 il
2) - Anarray is a series of element
paliall e Al e 3 5lie 48 gaiadll
3) - Anarray is a series of elements of the same type placed in non-contiguous memory locations
Bslaie e 5813 &l ga (Ao g ge g il uii (e palinll e dluli (e 3 e 48 siiadl)
4) - Anarray is an elements of the different type

Adlide g il (e palic & 48 sadll
7) What will be the output of the following C++ code?
N+ C 258 il (& Sams 13l

#include <iostream>
using namespace std;
int main()

{
int array[] = { 10, 20, 30 };
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cout << [array];

return 0;
h
1) - -15
2) - =30
3) +  compile time error
4) - 30

8) Which of the following is the correct syntax to add the header file in the C++ program?
S4C el (o (ond ) alall ALY dania dea (& b Les

1) - a. #include<userdefined>
2) - b. #include "userdefined.h"
3) - ¢. <include> "userdefined.h"

4) + d.Bothaandb
9) What will be the output of the following C++ code?
€A ++C 28 il ) sSo 3la

#include <iostream>

using namespace std;

int main()

{

for (inti=1;1<=5;i++) {
if(i==3) {

continue;

}

cout <<,

}

return O;

}

1) - 12345
2) 1245
3) - 1235
4) - 1345
10) What will be used when terminating a structure?
$0Se) oled] e Aaladind i 53 La
1) -/
2) -\
E) N
4) -
11) What will be the output of the following C++ code?
€A +C 258 gl () S e

J’_

#include <iostream>
using namespace std;
struct Time

{
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1))
2)
3)
4)

12)
1)
2)
3)
4)

13)

int hours;

int minutes;

int seconds;

}5

int toSeconds(Time now);
int main()

{

Time t;

t.hours = 5;

t.minutes = 30;

t.seconds = 45;

cout << "Total seconds : " << toSeconds(t) << end];
return 0;

}

int toSeconds(Time now)

{

return 3600 * now.hours + 60 * now.minutes + now.seconds;

}

+ 19845

- 20000

- 15000

- 19844
An inline function is expanded during
A Do) Al gpns 5 oy
+  compile-time

an il

- run-time
il
- never expanded
10 e s Y
- end of the program
bl 4l 8
What will be the output of the following C++ code?
$ AN ++C 258 U S 13

#include<iostream>
using namespace std;

int fun(int x = 0, int y = 0, int z)

{

return (x +y + z);

}

int main()

{

cout << fun(10);
return 0;
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1) - 10
2) -0
3) +  Error
Uas
4) - Segmentation fault
s lad
14) What is the scope of the variable declared in the user defined function?
Sariionall U (a3 jaall Zisda gl b dic - yeaall uiall Gl 58 Lo
1) - whole program
il S
2) +  only inside the {} block
{1 el Ja L
3) - the main function
Ly A
4) - header section
el il

15) Which header file is required to use file I/O operations?
fald) oz AYY/RSY) Clilee aladin costhall ol Sl Calall s L

1) - <ifstream>
2) - <ostream>
3) +  <fstream>
4) - <iostream>
16) Which of the following is used to create an output file stream?
AN Cale oLy axdiion b Les
1) +  ofstream
2) - ifstream
3) - iostream
4) - fsstream
17) By default, all the files in C++ are opened in mode.

. &jg++cgﬁw‘@@é§rﬂgs‘;~h\)ﬁ\ﬁ
1) +  Text

2) - Binary
3) - ISCl
4) - VTC

18) Which of the following is used to move the file pointer to start of a file?
Scalal) Aoy ) Caladl e el il axiioy b Lee
1) + ios::beg

2) - los::start
3) - los:cur
4) - ios::first

19) Which of the following is used for assignment?
L) dlaad axiiony b Lae

1) + =
2) -+
3) - -
4) - %

20) Which type of data file is analogous to an audio cassette tape?
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S el s o5 40y 53 Sl o 55 50 Lo

1) - random access file
o siall J pum sl il

2) +  sequential access file
Judidiall J g 5l Cala

3) - binary file

4) - source code file

$oxaall 2 Sl cala

21) eof( ) is the function used for
Jaaadiall adial) o ( ) eof

1) - asserting no errors in a file
Calall b eladl o ga g pae Ao aslll

2) - appending data to a file
Cala ) el A8l

3) - counting the amount of data in a file

alall & il 4 Gl
4) +  checking for end of file

alal) Algs (e gaall
22) Which of the following extension is used for user-defined header file in c++?
Ste (8 paiiusall U8 (e 22aall Gl 1 il aadiing 40 ClalaiaY) (e
) - hg
2) - cpp
3) + h
4) - hf

23) Which of the following is a correct identifier in C++?
1) + VAR 1234

2) - $var name
3) - 7VARNAME
4) - 7var_name

24) What will be the output of the following C++ code?
§ AN ++C 2580 (e ) g L
#include <iostream>
#include <string>
using namespace std;
int main()
{
char s1[6] = "Hello";
char s2[6] = "World";
char s3[12] =sl +" " +s2;
cout<<s3;
return 0;
§
1) - Hello
2) - World
3) +  Error
4) - Hello World
25) Which of the following C++ code will give error on compilation?
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$ian il wie s awgus 4050 4+4C 3 58T e
// code 1
#include <iostream>
using namespace std;
int main()
{
cout << "Hello World";
return 0;
}
//
// code 2
#include <iostream>
int main()
{
std::cout << "Hello World";
return 0;
H
//

1) Code 1 only

2) Neither code 1 nor code 2

3) - Both code 1 and code 2

4) - Code 2 only

26) What is the value of p in the following C++ code snippet?

€A ++C 23S0 i b p dad
#include <iostream>
using namespace std;
int main()
{
int p;
bool a = true;
bool b = false;
int x = 10;
inty=35;
p=(x|y)*(atb))
cout << p;
return 0;
§

1) - 12

2) -0

3) -2

4) + 16

27) Which of the following correctly declares an array in C++?

$+C (b 4 shan (8 gmna IS8 (lay b Lea

J’_

1) - array{10};
2) - array array[10];
3) - int array;
4) + int array[10];
28) Which is more effective while calling the C++ functions?

SHHC ilda g eleain) dic Aulled Y g8 L
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- call by variable
- call by function
- call by value
+  call by reference
29) What will be the output of the following C++ program?
?&tﬂ\ ++C GAU)Q ) G..'i\.'\]\ Rl
#include <iostream>
#include <string>
using namespace std;
int main()
{
const char *a = "Hello\OWorld";
cout << a;
system("pause");
return 0;
}
1) + Hello
2) - World
3) - Error
4) - Hello World
30) Which of the following is used to terminate the function declaration in C++?
CHC (A Al gl g el elgdY padin i Lea gl

1) +
2) -]
3) - )
4) -

31) What will be the output of the following C++ code?
§ A +4C 2SN e L g8 L
#include <iostream>
using namespace std;
int main()
{
char ¢ = 74;
cout <<c¢;
return 0O;

H
1) -
2) A
3) -
4) -

32) What will be the output of the following C++ program?

$ N ++C gelip o @) 58 L

#include <iomanip>

#include <iostream>

using namespace std;

int main()

{

cout << setprecision(17);

double d=0.1;

zZp -
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cout << d << endl;

return 0;

}
1) - compile time error
2) - 0.100001
3) - 0.11

4) + 0.10000000000000001
33) What will be the output of the following C++ code snippet?
§ AN ++C 2580 (e ) g L
#include <iostream>
using namespace std;
int operate(int a, int b)

{

return (a * b);

}

float operate(float a, float b)
{

return (a / b);

}

int main()

{

mtx=5y=2;

floatn= 5.0, m = 2.0;
cout << operate(x, y) << "\t";
cout << operate(n, m);

return 0;

§
1) - 1005
2) + 1025
3) - 10.05.0
4) - 5025

34) What will be the output of the following C++ code?
§ AN ++C 258 e @l o L
#include <iostream>
using namespace std;
int main()
{
inta, b, c;
a=2;
b=17;
c=(a>b)?a:b;
cout << ¢;
return 0;
§
1) - 12
2) - 14
3) - 6
4) + 7
35) What will be the output of the following C++ code snippet ?
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$ AN ++C 258 e @l 58 L
#include<iostream>

using namespace std,;

int main()

{

int array[]={0,2,4,6,7,5,3 };
int n, result = 0;

for(n=0;n<7; n++)

{
result += array[n];
}
cout << result;
return O;
H
1) - 21
2) + 27
3) - 26
4) - 25
36) Where does the execution of the program starts?
¢ zali ) 2 lay o) (g
1) - user-defined function
2) +  main function
3) - void function
4) - else function

37) What will be the output of the following C++ code ?
§ AN ++C 258 e @l g8 L
#include <iostream>
using namespace std;
void mani()
void mani()

{

cout << "hai";
h
int main()
{
mani();
return 0;
H
1) - hai
2) haihai
3) +  compile time error
4) - runtime error
38) What will be the output of the following C++ code ?
?‘;un ++C a S (e GJL'J\ ol
#include <iostream>
using namespace std;
void fun(int x, int y)
{
x = 20;
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int main()
{
int x = 10;
fun(x, x);
cout << x;
return 0;
}
1) + 10
2) - 20
3) - compile time error
4) - 30
39) Where should default parameters appear in a function prototype?
il 1 11 gmg el 8 Rl 81 el Sl el of ang
1) +  To the rightmost side of the parameter list
el ) AalE (e ol Y

2) - To the leftmost side of the parameter list
JisalJall Al g ol

3) - Anywhere inside the parameter list
el Aails Jals oS o 8

4) - Middle of the parameter list

el Ll A8 Cauaiie
40) What will be the output of the following C++ code ?
$ AN ++C 258 e @l 58 L
#include<iostream>
using namespace std,;

int fun(int x = 0, int y = 0, int z)
{
return (X +y + z);

}

int main()
{
cout << fun(10);
return 0;
b
1) - 10
2) -0
3) +  Error
4) - Segmentation fault
41) What will you use if you are not intended to get a return value?
Than o dadi o Jpeanll 3 goaiall (g (0 o] 13 4ndiinsin 53 Le
1) - static
2) - const
3) - volatile
4) + void
42) What will be the output of the following C++ code ?
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$ N ++C 2580 (e ) s L
#include <iostream>
using namespace std,;
int mult(int x, int y)
{
int result;
result = 0;
while (y !=0)
{
result = result + x;
y=y-1L
}
return(result);
}
int main()
{
intx=5,y=35;
cout << mult(x, y);
return 0O;
}

1) - 20

2) + 25

3) - 30

4) - 35

43) What will be the output of the following C++ code ?

§ AN ++C 258 e @l g8 L
#include <iostream>
using namespace std;
int ged(int a, int b)
{
int temp;
while (b !=0)
{
temp =a % b;
a=Db;
b = temp;
}
return(a);
}
int main()
{
intx=15,y=25;
cout << ged(x, y);

return 0;

}
1) - 15
2) - 25
3) - 375
4) + 5
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44) What will be the output of the following C++ code ?
§ AN ++C 258 e @l g8 L
#include <iostream>
using namespace std;
void print(int 1)

{

cout <<,

}

void print(double f)

{

cout << f;

}

int main(void)

{

print(5);

print(500.263);

return 0;

H
1) +  5500.263
2) - 500.2635
3) - 500.263
4) - 500.266

45) What will be the output of the following C++ code ?
?&Uﬂ ++C aS (e GJL'J\ ol
#include <iostream>
using namespace std;
template<typename T>
inline T square(T x)

{
T result;
result =x * x;
return result;
}
int main()
{
int 1, ii;
float x, xx;
doubley, yy;
1=2;
x=2.2;
y=2.2;
ii = square(i);
cout << i<<"'"<<ii<<endl
yy = square(y);
cout <<y <<"" <<yy<<endl;
return 0;
§

1) + 24

2.24.84
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- 24

- error

- 36

46) //What will be the output of the following C++ code ?
$ AN ++C 258 e @l 58 L
#include <cstdlib>
#include <ctime>
#include <iostream>
using namespace std;
int main()
{
srand((unsigned)time(0));
int ran;
for (inti=0;1<2; i++)
{
ran = (rand() % 10) + 1;
cout << ran;

H
return 0;
h
1) - 24
2) - 1020
3) +  Any two number from 1 to 10
4) - 506

47) Predict output of following program
‘";tﬂl o=l ) et g 53
#include <iostream>
int fun(int n)
{
if (n==4)
return n;
else return 2 * fun(n + 1);

}

int main()
{
std::cout << fun(2);
return 0;
}
1) - 4
2) - 8
3) + 16
4) - Runtime Error
48) The data elements in the structure are also known as what?
13l ansly Ual JSd) 880 5 gl il pualic o yad
1) - objects
2) +  members
3) - data
4) - objects & data
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49) What will be the output of the following C++ code ?
§ AN ++C 258 e @l g8 L
#include <iostream>
#include <string>
using namespace std;
int main() {
struct student{
int num;
¥
student stu;
stu.num = 123;
cout << stu.num-++ << endl;

return 0;
b
1) + 123
2) - 124
3) - 122
4) - compile time error
50) Which of the following is a properly defined struct?
1) - struct {int a;}
2) - structa_struct {int a;}
3) - structa_struct int a;
4) +  structa struct {int a;};
51) What will be the size of the structure student in memory (assuming an int takes 4 bytes and a char takes 1
byte)?

$(an)5 <l 33k char 5 <l 4 23 int of ol o) 3 SI3 d Qlldall JSi aas 58 L
struct student {

int id;

char name[20];

15
1) - 20 bytes
2) + 24 bytes
3) - 5bytes
4) - 21 bytes

52) Which operator is used to insert the data into file?
salal) I cblall JasY asdiual Judall s Le

1) - >>
2) + <<
3) - <
4) - None of the above
53) Which is correct syntax ?
¢ mnall dleall L L
1) - myfile:open ("example.bin", ios::out);
2) +  myfile.open ("example.bin", ios::out);
3) - myfile::open ("example.bin", ios::out);
4) - myfile.open ("example.bin", i0s:out);

54) What will be the output of the following program ?
N ali (e =L o La
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#include<iostream>
#include<fstream>
using namespace std,;

int main()

{

ofstream ofile;

ofile.open("find.txt");

ofile << "letsfindcourse" << end],;
cout << "Data written to file" << endl;
ofile.close();

return 0;
h
1) - Compile error
2) - Runtime error
3) +  The program prints ""letsfindcourse"" in the file find.txt
4) - none of the above

55) Which is correct syntax for, position n bytes back from end of FileObject ?
¢ fileObject 4let (e AT 530 i n sl dnpmall deal) o L

1) - FileObject.seekg(ios::end, n);
2) - FileObject.seekg(n, ios:end );
3) +  FileObject.seekg(n, ios::end );
4) - FileObject.seekg(ios:end, n);
56) Which stream class is to only write on files?
$datd i) e 40U iS5 angy (53 a5 g g Le
1) +  ofstream
2) - ifstream
3) - lostream
4) - fstream
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